80
70
60
50
40
30
20
10

17
11

| .

6 & 10 12 14 16 18 20 22

1.1 JR

2.1

2.1

2007 4 20 ( )

23 00

23 00

26




2.2

30
2.3

‘\w

020

030
040
050
060

2.1

19

Oooooao

Oooo0oaon

= RN

(]
O 30
[m]
2.3
3
2.2
22




3.1

2007 10 2 2007 10
116
3.1
3.2
3.3
64%
]
(]
]

3.1

3.3
17
n=52 n=65
3.1
Y = Z Q; X o
Y
a
Xi
3.2
20
20

n=1

3.1

20

20 30



3.2

20

2.123 4.442

0.161 8.762

4.207 15.120

-1.107

3.3

13

45

52

16

49

65

3.4

3.6

9445
65

=83.1%

3.5

3.6

10 20 30

40

50



11

PT
318
50 11
374
4.1
4.2
_exp(Vy,)
" expv,,)
jedn
K
Vln = Z:kamk
k=1
B
4.1
Cost 1.96

4.1

4.2

4.1
Coefficient | Parameter t ratio
cost -4 _.99E-05 -0.186
Time -1.46E-01 -14.96
Taxi age 3.97E-01 3.287
Bus sex -2.57E+00 -2.506
car-Dummy 3.23E-01 -5.174
Bus-Dummy -3.02E+00 3.338
Taxi-Dummy -4.49E+00 -4.460
L(B ) -526.009
InL -717.076
InL(0) -1042.49
o0 ? 0.266
o ? 0.257
Hit ratio 87.6%
4.2
4.2
1 2 3 4
1 289 14 0 14| 317
2 40 10 0 1 51
3 8 1 2 0 11
4 11 0 359 374
348 29 2 374 753
_ 289 +10+ 2+ 359 _87.6%
753
PT 17
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4.2
Car Bus Taxi WalkBicycle

96 12 5 77
105 6 0 79
103 8 0 79
-1.2% 33.3% 0.0% 0.0%
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